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EDUCATION / ‘D&’géﬁs
Paper - I1/ 2%8 - 11

Many committees, commissions were
constituted and reports were prepared
on Indian education during British Raj.
Identify the chronological order of the
following landmarks in ASCENDING
order :

(A) Hunter Commission, Macaulay
Minutes, Wood’s Despatch and
Sargent Report

(B) Macaulay Minutes, Wood's
Despatch, Hunter Commission
and Sargent Report

(C) Sargent Report Macaulay
Minutes, Wood’s Despatch and
Hunter Commission

(D) Wood’s Despatch, Hunter
Commission, Macaulay Minutes
and Sargent Report

PancE_—Stha is taught by :
(A) Jainism

(B) Buddhism

(C) Rk Veda

(D) Sankhya Yoga

In Jaina Darshana, dJudgement

(Paramarsa) based on
knowledge is called :

(A) Naya {B)
(C) Artha Patti

partial

Vyapti
(D) Tarka

The first cause of the universe according
to Sankhya darshana is :

(A) Brahma (B) Purusa
(C) Prakriti (D) Atma
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10.

Paper-11

As part of experiments in education,
Tolstoy form is established by :

(A) Tolstoy

(B) Gandhi

(C) dJohn Dewey

(D) Jiddu Krishnamurthy

The schools of Vedanta are :

(A) Nyaya, Vaisheshika and Yog

(B) Hinayana, Mahayana, Terawada
(C) Adwaita, Dwaita, Vishistadvaita
(D) Swetambara and Digambara

Concept of ‘Negative education’ was
propounded by :
(A) John Dewey

(C) Rousseau

(B) Ivan Illich
(D) Comenius

Dialectical Materialism is the

philosophical premise of :
(A) Logical ‘Positivism
(B) Logical Empiricism
(C) Pragmatism

(D) Marxism

‘Existence preceeds Essence' is
philosophical proposition of :

(A) Idealism

{B) Positivism

{C) Existentialism

(D) Pragmatism

Mind and Body are ‘independent
realities’ is the basic philosophical
position of :

{A) - Existentialism
{B) Idealism

{C) Realism

{D) Humanism
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11.

12.

Knowledge manifests from within is the
epistemological proposition of :

@A)
(B)
(C)
)

Realism
Empiricism
Idealism

Pragmatism

Match the following :

In List - I names of different committees
on education are given : and List - II,
stage of education for which committees
were constituted are given.

Match the List - I with the List - II
correctly :

List -1 List - 1I
(a) Yashpal Committee (i) Whole
Education
(b) Radhakrishna (ii) Secondary
Commission Education
(¢) Mudaliar (iii) University
Commission Education
(d) Kothari (iv) Primary
Commission Education
(v) Technical
Education
Codes :
(a) (b) (c) ()
A @O G Gi) @)
B (v O & (i)
(© Gv) @Gi) () @
D) @O @) (i)
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13.

‘Constant change’ is the cardinal

principle of :

(A)
(B)
©)
@)

14.
GV

(B)

()

)

15.

Naturalism
Realism
Existentialism

Pragmatism

What is ‘Social Change’ ?

Changes in the structure of a
society

Changes in the functions of a
society :

Changes in both structure and
functions of human society

Change of one society into another

Why do we call the school as a ‘miniature

society’ ?

(@)

(b)
©

(d)

We find the students of different
castes, religions, regions, etc., in
a school

We find more group interaction
among the learners in a school

We find both inclusion a.nd high
diversity in a school

We find novel atmosphere in a
school

Codes :

(A)
(B)
(©)
)

(a) and (b)
(2) and (c¢)
(a), (b) and (c)
(a), (c) and (d)
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13.
A)
(B)
(©
)

14,
(A)
B)

<

)

15,

LR

VBoBY vy o DO Hre Joe|@dw :

(BE)B T80

SPRNTOLED

SRS

AOTrA GRS/ S g
L0

WErBE Sry IR 7

JSdoves 206&865 Srspen

PSTRE @’35065065 55313 Soedyyen
PSS Sdre @6&8 Sodasw
Beroned® $i) Sedye

2.8 Do HBAWE HIrwore
Srsio

FETOD DR Foearen Jdres0’ P JoHH

'536“&0@63 ?

()

(b)

(c)

(d)

FEoc® DD SHeren, Soaven,
Eroare BodID 8)a°§6‘3e» GO,
FETS® wgrgiHeo e )08
JERNT (38 SLgen adiHErow
AP woros® whE D50, HAyso
Dot REs8HHHod

g rodd Qdrd) cerdSwo
EJHB00

555“) :

A
®)
(©
D)

(a) 08050 (b)
(a) 083 (c)
(a), (b) 0B (c)
(a), (c) »BSS (d)

B—Oﬁ-iﬁf




OO

16.

17.

18.

In the recent reshuffle, a minister of
state was given the position of a cabinet
rank minister. This change can be
called as :

(A) Horizontal mobility

(B) Vertical mobility

(C) Ascending vertical mobility

(D} Descending vertical mobility

Which of the following are the
characteristics of sociolization ?

(a) It is a process

(b) Members being dependently
together

(¢c) Learning the ways of the society
by members

Codes :

4) (a)

(B} (a)and (b)

(C) (b} and (0
(D) (a), (b) and (c)

Which of the following are correctly
matched ?

(a) Democratic society - Freedom and
full development of individuals
are valued

(b) Pragmatic society - Truth is
related to times, places, persons
changing in the society

(c) Materialistic society - Material
welfare is greatly emphasized

(d) Fascist society - Individual is more
powerful than society

Codes :

(A) (a), (b) and (c)
B) (), () and (d)
(C) (a), (b) and (d)
(D) (a), {c) and (d)
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19.

20.

21.

Impact of educational sociology on
education resulted in :

A)
(B)

Schemes of mass education

Separation of education from the
Religion and Churches

Adult education movement in the
country

All of the above

©)

()

Which of the following statements are
true related to family as an agency of
Education ?

(a) Preserve values,
traditions etc.,
(b) Enculturing the child

(c) Sociolizing the child to mould as
worthy member of society

customs,

(d) Exercises social control
Codes :

Ay (@), b)), ©

B) ®), ), D

© @, @ @

(D} (a), (b), (c) and (d)

Which of the following Article in our
constitution protect the rights of
children ?

(a) Article - 23

(b) Article - 24

(¢} Article - 350 A
(d) Article - 15 (3)
(e) Article - 16 (1)
Codes :

A) (@, ®), ©

(B) (), (@), (D

€ (a), ®), @

(D) (@), ®), ©, @,
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22, Which of the following cultural
processes lead to social change ?
(a) Acculturation
(b) Cultural diffusion
{(¢) Transculturation
(d) Enculturation

Codes :
A @, @ B) (o), (@
(CQ) (@), ®), (© D) @)

28. Main purpose of implementing ‘equal
educational opportunities to all’ in our
constitution is :

(a) To increase the literacy in India
(b) To provide social inclusion

(¢) To encourage horizontal mobility
(d) To enhance inclusive growth
Codes :

&) (@, ®), ©
© @) © @

B) ®), (@, @
D) (@), ®), D

24. Programmed learning is the result of :
(A) Classical Conditioning theory
(B) Insightful Learning theory
(C) Operant Conditioning theory
(D) Trial and Error theory of learning

25. Match the following :

(a) Pavlov (1) Behaviour
Theory

() Kohler (i) Classical
conditioning

(c) Skinner (iii) Insight learning

(d) Hull (iv) Operant
conditioning

Codes :

@ () () (@)

(A @G) (i) vy @

B) @ @) Gv) @)

(C) G (@(v) ) (i)

(D) Gy B G Gv)
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26.

27.

28.

29.

30.

(D)

Assimilation means :
(A)

Fitting new information into the
existing schemes

Altering new information into the
existing schemes

(B)
(©

Suppressing new information into
the existing schemes

Modifying new information in the
existing schemes

D)

Maturation is a process that takes
place :

(A) by force

(B) Naturally

O Psyéhologically
by learning

Creativity is the combination of :
(A) Achievement, Ego

Intelligence

Intelligence, Commitment and
Fluency

Intelligence, Originality and
Divergent Thinking

Thinking,
Reasoning

(B)
©)

Involvement and

®)

Rorschach Inkblot Test is a :
(A) An Intelligence Test
(B) Creative Test

(C) Personality Test

(D) An Achievement Test

Confusion about who you are and what
do you want refers to :

(A) Identity foreclosure
(B) Identity achievement
(C) Integrity

(D) Identity diffusion

and

27.

28.

29.

30.
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31. Match the following :
(a) Spatial sense (i) Occipital

and navigation lobe
(b) Seeing (i) Temporal
lobe
. (¢) Hearing and (iii) Frontal
gelective lobe
~ listening
(d) Speaking, (iv) Parietal
making decision lobe
{(v) Cerebral
cortex
Codes :

(@ () () @
(A) () i) Gv) O
B) @O @ G Q)
© @ (@) Gv) @)
@) Gi) G) Gv) )

32, Which of the following is not a function
of educational psychology ?

(A) to discover techniques by means of
which educational goals can be
attained effectively

(B) to define the goals for which
education is to strive

(C) to promote a greater
understanding of the learning
process

D) to promote a greater

understanding of the learner

33. Who stated that members of the same
species are not similar ?

(A) Darwin

(B) Herbert Spencer
(C) Best

(D) Good
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34.

36.

36.

317.

38.

Paperdl

Set of inter-connected concepts and
relationships in which long-term
memory is held :

(A)
(B)
©
D)

Implicit Memory
Explicit Memory
Instant Memory

Propositional Network

The tendency to remember the
beginning and the end but not the
middle of a list is due to :

(A)
(B)
©
D

serial-position effect
part learning
massed practice

rote memorization

The part responsible for communication
between brain and rest of body is known
as:

(A) Cerebellum
(C) Spinal Cord

(B) Pons
(D) Medulla

The duration of short term memory is :
(A) b5 to 20 seconds

(B) 30 to 40 seconds

(C) 60 to 90 seconds

(D) 90 to 120 seconds

“Develops concerns about social issues,
identity......."” is part of :

(A)
®
©
D)

concrete operational stage
pre-operational stage
sensori - motor stage

formal operational stage
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89. When the items are different in nature
in a data gathering tool, the type of

reliability coefficient preferred :

(a) Split half reliability coefficient

(b) Test-retest reliability coefficient

(¢) Parallel form reliability coefficient

(d) Kuder-Richardson reliability
coefficient

Codes :

(A) (b} and (¢)
(B) (a) and (b)
(C) (a) and (¢)
(D) (b} and (d)

40. To collect data related to factual

information we prefer to use :
A)
(B) open ended questionnaire

closed ended questionnaire

(C) a rating scale
(D) a check list

41. Which research paradigm is based on

the pragmatic view of reality ?
(A) Qualitative research

(B) Quantitative research
(C) Action research

(D) Mixed research

42. Null hypothesis in research is rejected

even though it is true :
(A) Standard error
(B) Critical error

(C) Type - I error

(D) Type - I error
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43.

44.

45.

 46.

417.

Phper-II _

The process of qualitative Cross
Validation of data in research using
multiple data sources is called :

(A) Validation

(B) Triangulation
(€)
(D)

Confirmation

Verification

The validity refers to the cause and
effect inference linking independent
and dependant variable is called :

(A) External Validity
(B) Internal Validity
(C) Construct Validity
(D) Statistical Validity

Which is not the characteristic of the
gualitative research ?

(A)
B)
©
®)

Inductive Inquiry
Deductive Inquiry
Holistic Inquiry

Individual Inquiry

Which of the following test shall be
appropriately used when the research
data is not required to fit a normal
distribution ?

(A) One Tailed test
(B) Two Tailed test
(C) Non Parametric test
(D) Parametric test

Which correlation coefficient is used
when one variable in dichotomous ?

(A) Partial
(B) Multiple
(C) Point Biserial

(D) Biserial
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48. Which of the following is meant for
personality assessment ?

(A) Binet Simon Scale

(B) Ravens Progressive Matrices
(C) EP Torrance Test

(D} Rorschach Inkblot Test

49. Which one of the following is correct ?
(A) IQ=MAx100

MA
B = — x10
(B) 1Q ca X100
(C) 1Q=CAx100
CA

50. The research in which the existing data
like census documents, college records
and news paper clippings are examined
to test a hypothesis of :

(A) Experimental

(B) Quasi experimental
(C) Archival research
(D) Survey research
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